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1. Retained earnings can best be described as:
a. cash receipts minus sxpenses after adjustments.
b. net income minus expenses after adjustments.
c. undistributed prelits,
d. net income minus cash disbursesents after adjustments.
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2. Dividends on common stock are:
a. expenses when paid, b, expenssd when incurred. €. never espensed, d. a reduction of earnings per share.

3. Big Company acquired Semli Company by exchanging 10,000 shares of jts osn $5 par value coamon stock for afl 2,000 shares of Seall's
outstarding coamon stock. At the time of acquisition, Big Coapany's stock was selling for $8 per shars and Szall Coapany' s stock
was selling for §15 per share. This transaction would have which of the following effects on Big Company 7

a. b. c. d.
Common stock account +530, 000 no changs +350, 004 ~33%.000
Retained Earnings account -$80, 800 -$50.000 na change +516.000

4. Harson cospany issued convertible bonds for a total price of $150 million, Later. when the bonds had s parket value of only 5120
million they wers converted to shares of comson stock warth approximately $135 million. For Harmon Company, which of the fallowing
woisld increase as a result of this transaction 7

5. b. c. d.
Contributed capital Yes Yes Yo o
Retained earnings Yes No Yes No
3. Blue Wose Cold Storage Company wes incorporated early in 1991, Since then, the following stock has been outstanding :
Preferred stock, 5%. 350 par 4,000 shares
Cormon stock, $20 par 5,000 shares

On Decenber 31,1934, Blue Nose Company declared and paid a total of $50.000 in dividends. This was the first dividend declared by
the fire. That is, until this date no dividends had been declared ar paid during the first two years of operations. [f the
preferred stock is cusulative and nonparticipating, what is the total amount of the $50;000 dividend that will he aveilable far
payment to the COMNON shareholders 7

a.%5.000 b.$20,000 <. $30.000 d, $42,000 e.5$50.000

§. Then 10% bonds are issued at par, what happened to the carrying value { or book value) of the bonds during the period they are
outstending 7
a. it resains constant b. it decreases €. it increasss d. it cannot be determined

T. On January |, 18D, the Arthur Corporation sold $140.000 (face value) of 7% bonds payable. The bonds were sold at 103%. Interest is
to be paid semi-ennually on June 30 and December 31, The bonds are due 10 years alter the original date of Tanuary 1. [n recording
the bond issue, Arthur Corp. should :

a, b. c. d.
Increase the cash account by $100,004 100,000 $103,000 £103, 000
Increase the Bonds payzhle account by £100, 000 £103, 000 140,000 $103.008

§. The account “premium on Bonds Payable® appears on the :
2. incose statemeni as a revenus account.
b. incone statement as an expense.
¢. balance sheet as a2 reduction of a ligbility.
d. belence sheet a5 a increase of a liability,

9. Yarranty obligations, as reported on the balance sheet, arise from:
a. goods that have been sold without eny form of guzrantee.
b. sales of goods on credit but not from cash sales,
€. from the desire tn recognize expenses as soon as possidle shile delaying recognition of the related revemue ag long s possible.
d. an zttempt to match the expense of guarantees to the pericd in which the related goods were sold.

10. Chamber Nusic Conpany employees are converted by a funded pension plan, In the vast Tecent Finencial statements, Chamber reported
& pension liability of approximately $3,000,000. This means that :
&8, Chawber's cumulative payments to its pension fund have been less than the sum of its pension expenses reparted on its income
~ stalements.
b. future pension benefits owed to retired Chamber employees total $3.000,000.
c. future pension benefits owed to current and retired Chamber employaes totals $3,000,000.
d. tatal pension expense reported by Chamber on the current income statement was $1,G00,004.

11. Harbor Seal Company reported u Deferred Tax Lisbility on its December 31,130, balance sheet. This means that Harbor Seal :
&. i5 delinguent on paying its income tazes.
b. has recognized more income on past income stateeents than on its tax returns.
¢. has recognized certain “permanent differences” when preparing past income statements.
d. has been unprofitabie in recent years but will have to star paying ircome taxes again when it becomes profitahle.

L



- % . b = | .;IL. "-'I:' 3 H 3 |
BitPRREANFTOEFZBBLYREE NS HHE }j-\
BN MBESWAN M ®E eNs 9 R ®o 3;.
—
12. Which of the following mare affected by the level of interest rates 7 !/.."j
&. b. c. d. I
Comzen i No No ¥
Bond pr?c:::k prices ::: ;:s Yes No ):':

13. Baker Mountain Company reported net income of §$50,000, preferred dividends of 4,000, and interest expense of §10,040 ror'TTsTTiis'r"
recent year. The fira' s comparative balance sheet reported the following sdditional inforsation,

Current Year Frevioug Year
Total assets $450,000 $400. 000
Total liabilities 150,000 125.400
Total stockhalders’ equity 309,004 275,600

What was the firm’s return on equity for the year ?
a, 15.3% k. 16.0% c. i8.8x d. 19.5%

4. The Artistic Tile Company uses the equity method for its investzent in Design Corporation. This year, Design Corp. earned $50,000
and paid $4.000 in dividends. Upon receipt of the cash dividend. Actistic' s accauntant recorded Investment Revenue. This
Procedurs :

a. is corrsct.

b. il cause an overstatesent of pet incose.

e. #{1l coayse an understatement of net [ncoms.

d. is incorrect accarding to GAAP, but will pot cause any errers on the {insncial statesents.

I5. A bond is purchesed at a discount. That will happen to the carrying value of the bond on the balsnce shest as its paturity date
approaches ? :

&, increases b. stays the same c. deereases d. cannot be deterzined from the date given

If. Accelerated depreciation :
a. results in higher net incore in ear]ier years and lower net income in later years.
b. iz used more often on the income statement than is the straight-line method.
€. leads to higher book values for depreciabie assets than does the straight-fine method.
d. mllocates smaller portions of cost to later periods than to earlier.

iT. Machinery with a cost of 350,000 and a book value of $17,500 was sold for 35,000 plus & note receivable of $12,500. No gain or
loss was recorded for this transaction. Vhat was the effect of this accounting procedure on the 194 financiai statesent items

listed below ¥

a. k. c. d.
Assets Correct Ovarstate Correct (verstate
Equity Correct Overstate Understate Correct
Ket income Correct Oversiate Understate Overstate

18. Keep-on Truckitg omned & truck shich cost $20,000 when it was purchased on January 1, 1992, It hed mecumuiated depreciation of
$8.000 at December 31,1993, Keep—on originally estimated the truck would have a residual vaiue after using it for four yenrs of
$2,000. It soid the truck for §$15.000 cash on Jenuary 11934, The aocunt of gain (loss) on the sale of the truck vas :

a. 33,000 gain b, 312,600 gain ¢ §1,000 Loss d, £7,000 gain

19. The payment of cash dividends on common stock is :

a, b. C. d.
never the expense to the paying firm Yes Yes o o
always beneficial to common stockholders Yes Ko Yes Na

20. Company A has a higher ratic of fixed to variable ¢osts than Company B, The salesg revenues of both companies increased by [0%. If
the fires sre sizilar in size you would expect Company A 5 ¢
a. expenses to increase mare rapidly than Coapany B 5.
b. expenses to decrease vhile Coapany B's incresse.
<. net income to decrease while Company’ 5 B increase.,
d. net incem to increase more rapidly then Company B s.

21. Coapany A and Company E are siailar in size and in many other respects, The Companies reported the following net cash flow from
(used for) investing activities in their 1994 annual reports.

% in million) 1994 1993 1902
Company 4 410 35 iy
Coapany B (250) {3000 (80>

From this inferaation you would expect

a. Company A to be groving more rapidly than Conpany B.

b. Company B to be groving pore rapidiy than Coapany A,

¢, Company A to have better investment alternatives than coapany B,
d. Company B to have less profitable than Coapany A.

22. ¥atch the following sources of Cash Flows to their primary uses,

a, b. r. d,
pay for eperating costs, pay
dividends, replace current agsets aperating cash flows operating cash f|ows financing cash [lows {inancing cazh flows
parchese of long-term assets operating cash [lows financing cash flows operating cazh flows financing cash flors

ral
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#3. Thich if the folleving net cash flow patterns is typical of & company vith high growth potential and strong financial perfomau‘u;;r.:.rj'
a b. <. d. pr s

Cash flov from operating activities  outflom outfion inflom inflov J

Cash flor from investing activities outflow inflow inflow cittd [ow

E
24. In revieving the financial statements of Contanira Company you note that in most years the cash flow from operations greatly j
gxceeds net income, One possible reason for this is that the fira:
a. is paying out dividends in excess of net income.
h. has very high operating leverage a5 a result of a large investment in depreciable assels.
c. utilizes a rate in excess of its cost of capitel when compating the net presemt waloe of potentisl investment opportunities.
4. has a low debt to equity ratio.

2%, Yhich of the following items Iz reported on an income statement 7

a. h. c. d.
[ncome froa continuing operations Yea Yes B No
cash provided by operations Yes Ho Yas o

26. High-Tech Construction Company specializes in sophisticated long-term construction projects that sake meny years to cooplete,
Yhich of the following is TEUE concerning the fira' s revenue recognition policy 7
a. It can chooss to use either the percentage—of-completion pethod or the completed-contract asthed as long as it does so
consistently.
b. The firm should use the percentage—of-coapletion—method.
¢. The firm should use the cvapleted-contract sethod.
d. [t sheuld wse the percentage-of-completion sethod unless considersble uncertainty exists cegarding profits or collections.

27. Revenues should be recognized on a transaction :
a, at the point of the sale
b. when the cash has been collected from the buyer.
c. when the seller has eerned the right to peysent from the buyer.
d. =g soon as the saller is confident that he has m buyer for the goods under consideration,
9. The bookkeeper at Hernandez Company is recording infarestion into the accounting system to recognize the estimated apmmt of bad
debt expense for the fiscal period. The entry into the sccounting system will affect which of the account halances below 7

a. b, . d.
Accounts Receivable Yes Yes o No
Bad Dehbts Expense Yes Ho Yes No

29_ The inventory valuation method that results in the recognition of he most recent inventory costs on the balance sheelt and incone
statesent, respectively, is:

a. b. c. 4.
balance sheet FIFQ FIFD LIFD LIFQ
incone statement LiFD FIFQ LIFQ FIFD

0. If the prices are rising steadily during an sccounting pericd ®
4. gross sargin will be lower with LIFO than »{th FIFQ.
b. LIFD will enszure that the ending inventory is stated at or near current oarket values on the balance sheet,
¢, cost of goods sold will be closest to current costs with FIFQ.
d. FIFG will minimize income taxes.

31. Mag s Pie shoppe reported a decrease in its deferred tax obligation account of $2,300 in 1934, As a result of this event, one
could determine that the
&. company’ 5 current tax liability was greater than its income tax axpense.
4. company s current tax liability wes less than its income tex expense.
¢. coapany did not pay Bs much tax as it oved during the year.
d. company had & net loss.

37 Discounted operations, extraordinary items, and cumulative effects are all similar in (hat way:
a. result in an increase in net income Tor the period reported.
v. have po effect on the cash flow stetement( have po cash [lov consequences).
c. gre all reported separately on the inpome stetement.
d. all are caused hy management having made poor decisions in the past.
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USE THE FOLLOWING INFORMATION FOR THE MEXT FOUR QUESTIONS,

Thomhill Company reported the following infermation for the sost recent three yemrs.

19x3 18x2 181
Net Sales £103.4 $31.3 $68.9
Cost of Products Sald 42.3 2.9 2.2
Groas Profit B46.6 54.4 46.7 7
Pegreciation and emortization 1,3 4.3 4.1 ;}
Pistribation expenses 18.5 13.5 8.0 J- ’
Selling and Mdai, sxpenses 8.4 2.0 4.4 —_—
Total costs and expenses §1.2 49.7 3.5 :
Oparating Income 5.4 3.7 19.2 '3
Intarest sxpenss (aet) 1.0 1.0 1.0 A
Income before taxes 4.4 1.1 9.2 ) ):F i
Provision for income tames i.8 3.1 3.7 |
Ret lncome Z.6 4.6 5.5
33, Select the TRUE statement below regarding the thyee-year period.

3.

33.

36.

31,

4.

39,

40.

a. Tha ficm has experienced increasing effectiveness.

b, The reduction in “provision for income baxes™ over the thres years is an encouraging sign Tor the firm.
¢. The company has taken on significant nev apounts of debt.

d. The company has greatly expanded fts plant, property, and equipaent.

Yhich of the follewing categories of expense appears to be “getting ocut of control™ over the three years?

a. b. <. d.
Selling and Admi. Expenses Yes Yes No No
Distribution Expenseas Yex o Yes No

Over the three years, the {ira becams more and mare efficient regarding which of the falleving categorics of expense?

a. h. c. {d)
Selling end Admi. Expenses Yeos Yes Ko Ko
Distribution Expenses Yes 8o Yes No

I{f you were mdvising manapesent, you would direct their attention te which of the following categories for immedimte attention?
a. cost of production seld b. deprecietion and amortization ¢. interest expense d. selling and sdministrative expense

Thich of the following has been incleded when operating income has been computed?

a, b. C. d.
pmarketing. general, and adainistrative expenses Yes Yes o Xo
interest axpense and/or interest revenue Yes ko Yes Mo

Generally, one would prefer to see what type of values for the follewing?
a. b. C. d.
Inventory turnover high high low low
Accounts Receivable turnover high low high low

Yhich of the following can cause difficulty when comparing corporate performance among companics?

a. b, c. d.
use of historical costs Yes Yes fio Ko
use af varying depreciation methods Yes tio Yes No

The existence of resources available to the firm over and sbove those measured and reported on the balance sheet may be indicated
by

&. cash flow per share exceeding esrnings per share.

b. market walue per share exceeding book walue per share.

¢. financial leverage at especially high levels.

d. a decreasing rate of return on assets over time,
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